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Instructions
i. This paper consists of Part A and Part B.
ii. No of Questions:

Part A - 10

Part B - 04
iii. Answer all the questions.
iv. Attach Part A of the question paper with your answer script.
iv. You are strictly advised NOT to take Part A of the question paper out of the examination

hall.

Part A

Answer question 1-10 by clearly underlining the correct answer.

" (01) ~ Which oneof the Tollowing is n6t normally a tesponsibility of the treasurer of a modem

corporation but rather the financial controller?

a) Budgets and forecasts

b} Risk management

c) Investment managément
d) Financing management



(02)  Consider the following two statements.

(1)
(2)

Which one of the following combinations relating to the above statements is correct?

(03} You have just assessed a project, involving an immediate cash outflow followed by a
series of cash inflows over the next seven years, by calculating the Net Present Value

(NPV) and the Internal Rate of Return (IRR). You have now discovered that you have

Preference shares normally offer investors a lower leve] of risk than loan capital

Companies can gain tax savings on paid preference dividend.

O 0o T

Statement

1 2
A True True
B True False
C False True
D False False

underestimated the discounting rate,

What will be the effect on NPV and IRR after correcting the under estimation?

O a0 wm >

NPV TRR
(A | Reduce W
(B | Increase W
TW Reduce
D |Increase | Tncrease
I N




(04)  Graygreen Company is considering the following project. The standard payback period of

the company is 4 years. Would this project be acceptable?

Year Cash flow in Rs.
0 (120,000)
1 35,000
2 35,000
3 35,000
4 35,000
5 20,000
a) Payback is over 4 years; therefore, reject the project.

b) The project has cash flows for 4 years; therefore, accept the project.
c) Payback is between 3 and 4 years; accept the project.
d) Payback is between 4-5 years; do not accept the project

(05) A company’s gearing ratio would rise if

a) A decrease in long term loans is less than a decrease in shareholder’s funds
b) A decrease in long term loans is more than a decrease in shareholder’s funds
c) Interest rate rise

d) Interest rate fall

(06)  JHC company has the following working capital ratios:

2019 2018
Current ratio 1.2:1 1.6:1
Receivables days | 69 days - | 45 days
“ Payables days 32 days 45 days
Inventory turnover 45 days 32 days




(07)

(08)

(09)

Which of the following statement is correct?

a)
b)
c)
d)

JHC is suffering from a worsening liquidity position in 2019

JHC’s receiving cash from customers more quickly in 2019 than in 2018
JHC’s liquidity and working capital has improved in 2019

JHC is taking Jonger to pay suppliers in 2019 than in 2018

Sarani wishes to obtain a housing loan of Rs. 2,500,000 at an annual interest rate of

12.24%. The loan is to be repaid in 120 monthly instalments which will be paid at the

end of each month. What is the loan capital outstanding at the end of 2°¢ month?

a)
b)
©)
d)

Rs. 2,427,569.12
Rs. 2,478,459.82
Rs. 2,438,999.82
Rs .2,463,624.12

Tissara plans to make 30 quarterly deposits of LKR 2,000 into a savings account. The

first deposit will be made immediately. The savings account pays interest at an annual

rate of 8%, compounded quarterly. Find the amount in his account at the end of the seven

and a half year period ?

a)
b)
c)
d)

Rs. 44,793
Rs. 81,140
Rs. 82,760
Rs. 46,790

Wilky is considering an investment that is expected to pay Rs.45,000 per year for the

next five years and will be worth Rs.500,000 at the end of the fifth year. If his discount

rate is 13 percent, what is the maximum amount he should be willing to pay for this

Investment?

a)  Rs.725,000.00
b) Rs.658,275.41
¢)  Rs.429,655.37
d) Rs.398,434.67



(10)  Suppose a company’s net earnings and equity capital are Rs. 1,000,000.00 and Rs.
5,000,000.00 respectively. The dividend payout ratio is 20%. What is the growth rate of

the company?

a)  04%
b) 08%
c) 20%
4  16%

(02 X 10 = Total 20 Marks)






(01)

(02)

_ )

Part B

Describe the evolution of financial managément by explaining the salient features
of traditional and modern approach to financial management.

(04 Marks)
Explain the difference between the wealth maximization objective and profit

maximization objective of a firm.

(04 Marks)

"Finance manager stands in between financial markets and firm's operations."

Comment on this statement highlighting the role of financial manager in an -
organization. -

(07 Marks)

(Total 15 Marks)

Methmini PLC is considering two possible investment projects named as Project
A and Project B. Project A’s initial cost is LKR 450 Million where Project B’s
initial cost is LKR 350 Million. The expected total revenue and expense for each

year of the project life of the above two projects are shown below.

LKR (in Millions)
Project A Project B
Year | Total Total Total Total

_ Revenue | Expenses | Revenue | Expenses
Year | 292 172 260 180
Year 2 301 178 273 186
Year 3 313 185 293 197
Year 4 322 192 308 204
Year 5 332 198 317 209
Year 6 344 206 329 214




Assume :
no residual values at the end of the sixth year

the firm's cost of capital is 13%.

I} You are required to calculate
i.  Discounted pay back period of the two projects
it.  Net Present Value (NPV) for each project
iii. Internal Rate of Return (IRR) for each project
(If needed, use only 13 % and 18 % discounting rates for your calculations)
II)  Which project should be selected based on the NPV approach? -Advise the
company. ‘ (15 Marks)

b) You have been provided the drafted financial statements of LBG Growingtec Ltd
prepared for the year ended 31st March 2018 and 31st March 2019.
Comprehensive Income Statement for the year ended 31.03.2019 and 31.03.2018

2019 (LXR.”000%) | 2018 (I.LKR.”000"

Turmover 3,850 1,854
Less: Cost of Sales 2,460 1,150
Gross Profit for the Year 1,390 704
Less: Operating Expenses 575 410
Operating Profit 815 294
Less: [nterest Expense 45 60
Add: Dividend Income 140 -
Profit before Tax 910 234
Less: Income Tax 364 94
Profit after Tax 546 140
Retained Profit 150 50
696 190

Less: Dividend 130 40
Retained Profit Carried Forward 566 150




Statement of Financial Position as at 31.03.2019 and 31.93.2018

2019 2018
(LKR.’000°) | (LKR.’000")
Fixed Assets
Property Plant and Equipment 2,680 2,060
Investments 450 350
3,130 2,410
Current Assets
Inventory 420 340
Accounts Receivable 530 440
Cash & Bank .30 55
980 835
4,110 3,245
Finance by
Share Capital and Reserves
Ordinary Share Capital (at LKR 10 each) 2,580 2,050
Retained Earnings 566 150
Non-Current Liabilities
12 % Debentures 300 400
3,446 2,600
Current Liabilities
Accounts Payable 409 375
Accrual Expenses 155 145
Tax Payable 100 125
664 645
4,110 3,245




Market price of an ordinary share and the number of otdinary shares of LBG Growingtec Ltd as

at the end of year 2018 and 2019 are given below.

2019 2018
Market Price of an Ordinary Share (LKR.) 20 15
Number of Ordinary Shares 258,000 205,000

You are required to:

Calculate following ratios for LBG Growingtec Ltd for year 2018 and 2019,

(03)

a)

Net Profit Ratio

Return on Capital Employed (ROCE)
Quick Ratio

Interest Cover

Price Earnings Ratio (10 Marks)
(Total 25 Marks)

Greentera Ltd wishes to calculate its weighted average cost of capital. The capital

structure of Greentera Ltd, is as follows.

LKR

Ordinary share capital ( LKR 10 each) 60,000,000
Retained Earnings 17,400,000
10% Preference shares of LKR 10 each 18,000,000
11% Debentures of LXR 100 each 40,000,000
09% Debentures of LKR 100 each 45,000,000
14% Long term loan 10,000,000

190,400,000

The market price of a ordinary share is LKR 23.50. Company currently pays an
annual ordinary dividend of LKR 2.50 per share. The company’s dividend has
grown steadily over the past 8 years (from 01t of April 2011 to 31 of March 2019)
from LKR 0.80 to its current level and this growth trend is expected to continue.
The preference shares are currently selling at LKR 17 per share. 11% debentures

are redeemable at par in 11 years’ time.



(04)

11% debentures and the 9% debentures are currently selling at LKR 117 and LKR
113 respectively per debenture. °

The preference share dividend and 9 % debenture interest are due to be paid in near
future, Ordinary share dividend and 11% debenture interest has just been paid.

Assume that the corporate tax rate is 30%.

You are required to,
calculate the Weighted Average Cost of Capital (WACC) for Greentera Ltd based

on market values. (if required, only use 05% and 13% discounting rates for your

calculations)
| (14 Marks)
b) Briefly explain the three (03) levels of informational market efficiencies.
(06 Marks)
(Total 26 Marks)

Write short notes on following:

a) Working Capital Mamangement

b) EBIT-EPS Analysis

c) Degree of Operating Liverage and Financilal Liverage
d) Types of Dividend Policies.
(05 Marks x 4 = Total 20 Marks)
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